[image: ]
          [image: ]
image1.png
8) In a mass spectrometer, a beam of particles travelling horizontally consisting of
25% particles with mass 5.0 x 10 kg, 50% with mass 1.0 x 10 kg, 5% with
mass 2.0 x 10 kg, and 20% with mass 2.5 x 10 kg are incident on a region with
a constant vertical magnetic field of 12 Teslas. The initial velocity of the beam is
2.0x 10°m/s. Each particle has a charge of 0.001 Coulombs. The particles are
allowed to curve in a half-circle, and then strike a screen of detectors. During the
experiment a total of 100,000 particles are detected. Draw a graph, including
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units on the distance axis, of the number of particles detected vs. distance.




